[ Efficiency vs vertpos |
- 0.2

0.8 ofree v freeaneeaeesd eereneas

4 o
2 0,165~

Q H
§0.14H--
oS i :
S0.120 111
0.3}
0.08H4

0.06H
0.04H
0.02F
aF bl il kbl
o J..UU:
T
@ 14 B O

0.05HHHAHHEH A e

0.9k : :
1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~n 0.2
LT RS | S 1 S
%] C . ] . [ .
Z0.16------ peeees AR P i R P
> . " . s .

20 14E : : : : :
gO-Lap et Ol S T

o - . i . ] .
£0.12------ [RERRE O FEPETY FEPES | ERRPRRS PR

@ F : : : ] :
O SRRRit |1 3301 SEEE ELRLH | SELEEE S
0.08F -+t {1 kAl bl H - {f S
0.06f -5+ SRR (i SR S
0.04f -+ benes SRIIIIE T S S

YT S S . B A S

7| PSP BT, | AP IO I S R

Ratio

IRt | 221111111111 SRS

0.8f------- Feeees e Freeeees

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

Q. 0.45
0.4
£0.35

Sim

o
w

efficiency

0.25

©
N

N : : C EPE EREPE

T
i
+
;

0®5=15 S0 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


